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Abstract. Three main schemes of limit theorems for random evolutions are studied: averaging, dif-
fusion approximation and asymptotic of large deviations.

Asymptotic analysis of random evolutions on increasing time intervals is realized in the series scheme
with small series parameter using solution of singular perturbation problem for reducible-invertible
operator.
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du(t)/dt = C(u(t);x(t)), u(0) = u0 ∈ R
d ���

� �����������  ���
��� R
d! d ≥ 1� "������
� ����	��� C(u;x)! u ∈ R

d! x ∈ E! �����
#�
� ��� �
���� x ∈ E! ���������$� ����������$� �
��%����$� ��$��
���$�  ������
x(t)! t ≥ 0! &� ����'
��
 $�����
���� ()! *+

Qϕ(x) = q(x)
∫

E

P (x, dy)[ϕ(y)− ϕ(x)], ϕ(x) ∈ BE , ���

�� ��,���������� 
��
�������
� � �����	 |ϕ| := supx∈E |ϕ(x)|�
-����� ����� �� �� ()! *+�! &� ������
 q(x) � ��� �������' 	��
��
��	��� ����

�
�
������� θx � �
���� x ∈ E.
P{θx ≥ t} = e−q(x)t, t ≥ 0.

/
����
���� 
��� P (x, dy)! x ∈ E! dy ∈ E ! �������' ����	�����	 �
�
���� �����

�
���� ������� ������� xn = x(τn)! n ≥ 0.

P{xn+1 ∈ B | xn = x} = P (x,B), x ∈ E, B ∈ E .
���
��
 �	�����
��� ��
��%���� τn! n ≥ 0! �������	
��
 � �������0���
�

τn+1 = τn + θn+1, n ≥ 0.

1
#�! ��' ����� ������
�

P{θn+1 ≥ t | xn = x} = P{θx ≥ t} = e−q(x)t.

������������	 
�����	��	 �
��
�


dux(t)/dt = C(ux(t);x), x ∈ E,
�����
�����	
��
 ���������
�
 ��
�������
 ��
�
�������
� (�! 2����3+

C(x)ϕ(u) = C(u;x)ϕ′(u), ϕ(u) ∈ C1(Rd),

�� ��$�� 

Ct(x)ϕ(u) := ϕ(ux(t)), ux(0) = u.

4��������� �� ������ ����	��
 ���5��� �����
�����'
��
 $�����
���� (�! 6 3��+
������ ����
��$� ����������$�  ������ u(t)! x(t)! t ≥ 0.

Lϕ(u, x) = Qϕ(·, x) + C(x)ϕ(u, ·).

7� ��	�
���� 
������� � ��
�� �
���

8� ������� � ��
� �! ���$�
��	
��
 
�� ������� ����� ����, � �����  �����
���
����� ε→ 0! ε > 0.

��
�
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���! �
�� 	��� ������
���	� 
� �
�
�	 �	��
�
���  ��
�����
��� ���

��� �
�� 	!�

1������  �� �&���
! � 
��� ���$�
��	
��
 �� ������ ����	��� � ����� ����,!
���
� ���

������� ��	�
�����
 4���������,  �����  ��������� x(t)! t ≥ 0! � �
������

���� ��������  ���
��� (E, E) �	����	��� 
����
��
� � '����� �
���������� ����
 ������ π(B)! B ∈ E �



��������� ��	��
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���� �� ���������� �������
�� ���� ��

����������	
 �����
�� ��������	� ���
�	� ��
���� xn� n ≥ 0� �	���������� �����
��
��������	�

π(dx)q(x) = qρ(dx), q =
∫

E

π(dx)q(x),

ρ(B) =
∫

E

ρ(dx)P (x, dy), ρ(E) = 1.

���� ������������ �	������� �	��
���� ���� ��! " �#��� "����
����� ��
� ����
����$����� 
	�������! �	����	

duε(t)/dt = C(uε(t);x(t/ε)), uε(0) = u0 ∈ R
d, %�&

� ��
��������� ��
���������� xε
t := x(t/ε)� '� �	����� ���� �� ������ �	# ���

�������# ���" Tε = t/ε� ε→ 0�
�������� ���������	
 ������

uε(t), xε
t = x(t/ε), t ≥ 0, ε→ 0,

�	���������� (����������

Lεϕ(u, x) = [ε−1Q+ C(x)]ϕ(u, x). %)&

*�	�����	��	
 ������ �	��
����! ���� ��! %�&� '� #�������	�"����� (��������
��� %)&� ������"����� � �	���	������� ����$���" �
������ ���	���
��	� ���
����

�� ���
�� �+������(� (��������� Q ,�� -��
� ./�
-��������� ��(�
	������ ����������(� ������" �����	���� x(t)� t ≥ 0� ��+�����"�

���
�" �+��������� (��������� Q� ��+�� ���"����� �+��0���(� �����
���� R0� '�
�	���������� ��������� ,�� -��
� ./

QR0 = R0Q = Π− I, Πϕ(x) :=
∫

E

π(dx)ϕ(x).

1�0�� ���"� �
	�	
 ����$���� 
������� ���������

Qϕ(x) = ψ(x), Πψ(x) = 0,

'� �	���������� ������� 

ϕ(x) = −R0ψ(x), Πϕ(x) = 0.

*�	�����	�� ���
��������� (��������� %)& �	��
����! ���� ��! %�& ������"�����
�� ���
���� �����2"�����#

ϕε(u, x) = ϕ(u) + εϕ1(u, x).

	�
� ��
� ��� ���
� ������������ �
�����������

Lεϕε(u, x) = Ĉϕ(u) + δε
l (x)ϕ(u), %.&

�� ���������� ������

sup
x∈E

|δε
l (x)ϕ(u)| → 0, ε→ 0, ϕ(u) ∈ C2(Rd).

�
������� ���
���
 ��������� ��������� ������

Ĉϕ(u) = Ĉ(u)ϕ′(u), Ĉ(u) =
∫

E

π(dx)C(u;x).

*�	�����	��� ���
��������� %.& � +��������
��� �	������� ������"����� �����

0���� .�� ,�� -��
� ./ � Q1 = C(x)�
*�	�����	��� ���
��������� %.& ��"0	�� ������ 
�� 
���
���� ���+��! �+�0���

���

uε(t) ⇒ û(t), ε→ 0; %3&
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�	��� ��  � !"

dû(t)/dt = Ĉ(û(t)), û(0) = û0 ∈ R
d.

���������� ���	 #
�$�� �$
%�
��� &!' � 	���� 
� ���
���
� ()�����)� ���������*
��+ �
� ��	,�������, ������� -	 ��� ����� 
��	�
�� )	������� � .� /��������
0� 0� 1	�	
�$	��� 2� 2� 3
,���� �� 
�4�

��5� ��������	 	
��
���	���� 6����
��
 ��)���	�
 ��	
��
7 � �,��
 ��8��
��	7
�)�	������
7 �������� �	������	� �����
��	7 �������

duε(t)/dt = Cε(uε(t);x(t/ε2)), uε(0) = u0 ∈ R
d &9'

� ����	������� )������������ xε
t := x(t/ε2)� :�)�� ��	�����
 
������
� ���� ��*

��� �	�������� Tε = t/ε2� ε→ 0�
;����
��� ��	
��
7 ��)�� ���	% ��
�%��� �
� ��
	�	 )�������� ���
7� � ����

Cε(u;x) = C(u;x) + ε−1C0(u;x), u ∈ R
d, x ∈ E. &<'

/��4� �	�)	����� C(u;x) )	�	�%�� ���������� ��	
��
�� � ����� = C0(u;x) )	*
�	�%�� ��8��
��
 8
������
7 )�� �	����	�
� �
��� 
������>

ΠC0(u;x) =
∫

E

π(dx)C0(u;x) ≡ 0. &?'

0���	����� ��)���	�� ��	
��
� &9'=&<' ,��������������� �������	�	� ��	�	�*
)	�����	�	 ����	����	�	 )�	���� uε(t)� xε

t := x(t/ε2)� t ≥ 0�

Lεϕ(u, x) = [ε−2Q+ ε−1C0(x) + C(x)]ϕ(u, x). &�@'

:��

Ck(x)ϕ(u) := Ck(u;x)ϕ′(u), k = 0, 1. &��'

.���)�	������ ���

� ��)���	�	7 ��	
��
7 &9'=&<' � ��	��, $�
���� &?' ���

��*
����� � ���	��������� �	������� ���
��
� ������������ �
������ �
� ��
��	 	$	*
�	��	�	 	)����	�� Q ��� �	���  "� -	 �������� �
��	�
��	 ���	������ ����	������
)�	��� )����
������

.���)�	����� )�������
���� �������	�� &�@'= &��' ���

������� �� �$�����, ����*
8����
�,

ϕε(u, x) = ϕ(u) + εϕ1(u, x) + ε2ϕ2(u, x).

���	 ���� � �
���� 
������ &?' 
�� 
���� ���
�������� �������������

Lεϕε(u, x) = L̂ϕ(u) + δε
l (x)ϕ(u), &�5'

�� ���������
 �����


sup
x∈E

|δε
l (x)ϕ(u)| → 0, ε→ 0, ϕ(u) ∈ C3(Rd).

��������� �������� L̂ �
���������� ��  ��
����

L̂ = ΠC(x)Π + ΠC0(x)R0C0(x)Π. &��'

.���)�	����� )�������
���� &�5'=&��' � $��)	������
� ����	��	� �����%����
 �5 ��� �	���  " � Q1 = C0(x)� Q2 = C(x)�

�������
 ���� !��
�������� ������������� &�5'"&��' ������� ��������
 ���

��������� ���
#�$ �
������� ��� �	��� !"

uε(t)⇒ ζ(t), ε→ 0. &�A'



��������� ��	��
��� ���
���� �� ���������� �������
�� ���� ��

��������� ��	
������ 
����� ζ(t)� t ≥ 0� ������������ �����������

L̂ϕ(u) = b(u)ϕ′(u) +
1
2
B(u)ϕ′′(u),

b(u) = Ĉ(u) + Ĉ0(u), Ĉ0(u) = ΠC0(u;x)R0C
′
0(u;x)Π,

B(u) = 2ΠC0(u;x)R0C0(u;x)1.

���� �� ����	
����� C′0(u;x) := ∂C0(u;x)/∂u
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 2�(� ��� ��	���
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 &���#����� ����� ����� 4� ���� ���� .��
/ 0
0
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�
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��� �� ��4�+
��7��6 �$ ������3�6 ��� ������	��! ��$������! 
���#3�7 � ��$���� �������� $ �+
3
��� $
 
��#	
�� x(t)� t ≥ 0


�
�
 ����������	� �
�
 ��
����� 8�����	�� ��$������ 
���#3�� � �!
�� ����+
$����	�� ����6 ��4���6 �����	������  ���9����� 
���#3�7��(�  �������

duε(t)/dt = C(uε(t);x(t/ε3)) + ε−1C0(x(t/ε3)). ��0�

&�� 
�� :��������

Cε(u;x) = C(u;x) + ε−1C0(x), u ∈ R
d, x ∈ E, ��;�

����������� 
���
 "� ���


ΠC0(x) =
∫

E

π(dx)C0(x) = 0. ��<�

=� ������� ��$������ 
���#3�� ��0�>��<� !� ���
 �������� (
�
 ��� �� ������+
$��
����(� �� ������(� $ �3
�� uε(t)� xε

t := x(t/ε3)� t ≥ 0�

Lεϕ(u, x) = [ε−3Q+ ε−1C0(x) + C(x)]ϕ(u;x). ��?�

&� ����	
����

C0(x)ϕ(u) = C0(x)ϕ′(u), C(x)ϕ(u) = C(u;x)ϕ′(u). ��*�

2���$����	��7 ������ ��$������6 
���#3�6 ��0�>��<�  
���������� ��7�
 ��� ��+
��� �� � � $�$
 
������ / �
�
 2 ���
� (
�
 ��� ��?�>��*�  ��(��������� �� ��� 
��!
�
��+4���3��!

ϕε(u, x) = ϕ(u) + εϕ1(u, x) + ε3ϕ2(u, x).

���
 ���� # 
����$ "� ���
 ��<� ��� ����� ����
������� 
������� ���� �����

������ ��?�%��*�

Lεϕε(u, x) = L̂εϕ(u) + δε
l (x)ϕ(u)

�� ���$�
!��� � ����

sup
x∈E

|δε
l (x)ϕ(u)| → 0, ε→ 0, ϕ(u) ∈ C3(Rd).

&���������� �
������ L̂ε �"��� !����� �� 	���
 �!

L̂ε = ΠC(x)Π + εΠC0(x)R0C0(x)Π. ��@�



�� �� �� ����	
�

��������� ��	
 ��� 
��� ����
��
	� ���� ���

��
 ��������� ���� � ����	� �
�
���� !

Lε = ε−3Q+ ε−2Cε
0(x) + C(x), Cε

0(x) := εC0(x),
�� �
���

���
 ��	� ��"�

#

	����
��� ����
�������� �"$� �������� �� 	�� 	 
%� �

	����
��� 
� �� ����
&����

uε(t) � ζε(t), ε→ 0, �"��

� ���	� �
'�� (�
( ���%�
 ζε(t) �������
� ����)����	 
��*�
�
����� �
'����% ����
���� � ������

dζε(t) = Ĉ(ζε(t)) dt+
√
εσ dw(t). �""�

+���
%� ��� �% ( �
��������
� � �� 
�,

B = σ∗σ, B = 2
∫

E

π(dx)C0(x)R0C0(x). �"��

#

	����
��� ����
�������� �"��-�"�� .��� �
���

���� � ���� � �������� 	���
��

	�
������ ��� �
��	 ��
* �
������
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Hεϕ(u) = e−ϕ(u)/εεLεeϕ(u)/ε. �"0�
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exp
{
ϕ(u(t))− ϕ(u(0))−

∫ t

0

Hϕ(u(s)) ds
}

= μt.
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Hϕ(u) = e−ϕ(u)Leϕ(u),

�� L � ����������	 	�����
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� u(t)� t ≥ 0�
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Hεϕε → Hϕ, ϕε → ϕ, ε→ 0. �";�
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	 #
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'�� � ζε(t) =
√
εσw(t)� t ≥ 0� �
��������
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����������	

Lεϕ(u) = ε
1
2
σ2ϕ′′(u). �"<�
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Hεϕ(u) =
1
2
σ2[ϕ′(u)]2 + εσ2ϕ′′(u).
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Hϕ(u) =
1
2
σ2[ϕ′(u)]2. �">�
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Hϕ(u) =
1
2

d∑
k,r=1

σkrϕ
′
kϕ
′
r, ϕ′k := ∂ϕ(u)/∂uk, 1 ≤ k ≤ d.

'�� σ2 = [σkr ; 1 ≤ k, r ≤ d] % �������� �������
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Hεϕε(u, x)→ Hϕ(u), ϕε(u, x) → ϕ(u), ε→ 0,

��  
�����" ����#$������"

ϕε(u, x) = ϕ(u) + ε ln[1 + εϕ1(u, x) + ε2ϕ2(u, x)].
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Hϕ(u) =
1
2
σ2[ϕ′(u)]2 + Ĉ(u)ϕ′(u),

σ2 = 2
∫

E

π(dx)C0(x)R0C0(x), Ĉ(u) =
∫

E

π(dx)C(u;x).
!"/$
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Hεϕε(u, x) = ε−1[Qϕ1 + C0(x)ϕ] + [Qϕ2 − ϕ1Qϕ1 + C(x)ϕ] + δε
h(x)ϕ(u), !"1$

 �  ��"�����
 �����


sup
x∈E

|δε
h(x)ϕ(u)| → 0, ε→ 0, ϕ(u) ∈ C3(R).
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Hε
Qϕ

ε(u, x) = e−ϕ/ε[1 + εϕ1 + ε2ϕ2]−1ε−2Q[1 + εϕ1 + ε2ϕ2]eϕ/ε

= e−ϕ/ε[1− εϕ1 − ε2ϕ2]ε−2Q[1 + εϕ1 + ε2ϕ2]eϕ/ε + δε
q(x)ϕ

= ε−1Qϕ1 +Qϕ2 − ϕ1Qϕ1 + δε
q(x)ϕ.
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Hε
0ϕ

ε(u, x) = ϕ−ϕ/ε[1 + εϕ1 + ε2ϕ2]−1C0(x)[1 + εϕ1 + ε2ϕ2]eϕ/ε

= ε−1C0(x)ϕ+ δε
0(x)ϕ.

5 ����6

Hε
cϕ

ε(u, x) = e−ϕ/ε[1 + εϕ1 + ε2ϕ2]−1εC(x)[1 + εϕ1 + ε2ϕ2]eϕ/ε

= C(x)ϕ+ δε
c(x)ϕ.
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Qϕ1 + C0(x)ϕ(u) = 0, $%&'

Qϕ2 − ϕ1Qϕ1 + C(x)ϕ(u) = L̂ϕ(u). $%�'
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ϕ1(u, x) = −R0C0(x)ϕ(u) = −R0C0(x)ϕ′(u). $%,'
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Qϕ2 + C0(x)R0C0(x)[ϕ′(u)]2 + C(u;x)ϕ′(u) = L̂ϕ(u). $%%'
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Lεϕ(u, x) = [ε−3Q+ ε−1C0(x)]ϕ(u, x).
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duε(t) = Ĉ(uε(t))dt+
√
εσdw(t),
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Hεϕ(u) = e−ϕ(u)/εεLεeϕ(u)/ε,

� �������
�
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0��� $,,'

Lεϕ(u) = Ĉ(u)ϕ′(u) + ε
1
2
σ2ϕ′′(u)

� ���
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Hε
cϕ(u) := e−ϕ/εεĈeϕ/ε = Ĉϕ(u) = Ĉ(u)ϕ′(u),

Hε
σϕ(u) := e−ϕ/εε2Beϕ/ε =

1
2
σ2[ϕ′(u)]2 + ε

1
2
σ2ϕ′′(u).
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Bϕ(u) :=
1
2
σ2ϕ′′(u).
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Hεϕ(u) → Hϕ(u), ε→ 0.
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Hϕ(u) =
1
2
σ2[ϕ′(u)]2 + Ĉ(u)ϕ′(u).

��
����� ��� ����� �������� ����	�� ��������� ����������
� �� 
������ ���������
� � ! ��� �"!#

����������

�� �� �� �����	
� �
� �� �	�
	��� ���������� �	��
�� �� 

����� ����
 ����
� ���� �����

�� �� �� ������
� �
� �� �� ������
�� ���������� 
��
�� �� �	��
��� ��
���� �����

�� �� �� �� 	�� �
� !� "� �
��#� 
����� ����
��
�� �������
�������� ��� ����
��
��
� $� �	%

���&��
�� ��'(�

)� $� *�
+ �
� !� "� �
��#� ����
 �
������� ��� ���������� ����
��
�� ,-�� ./� ���(�

�� -� $� *��	��	
 �
� ,� -���
�#��� ������ �
���������� �� �	������� �	��
��� �0�	
+�� �����+�

���'�

(� �� *������ ��  ����������� �� ����������	 !�
��	 ��� ��� ������������� 1��� //� $� 
 �	���&��
��

��((�

2� 3� 3� 456789� :� ;� <=>?>6>@� "#$%$&'$ # ($)*'+ ,-./01&23 4*)5$,,)#� AB8C=8D� E>F=G8�

��22�

�������� ���	����
� ��� 

������ �	�	�	�
����
�� �� ���� ������ 

�����

6%*$,0 $-$7(*)&&)8 4)9('H ���������	
����
���

�����$�� %&'& '(&%%


